Win Tavern, 7628 Georgetown Center Dr Jenison, MI 49428, **Pulled:** 10/14/2025 13:04:36 **Settings: Date Range:** 10/05/2025 - 10/12/2025 Employee: All Employees **Jobs:** Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender Training

Data for: 10/05/2025 05:00:00 to 10/19/2025 04:59:59

Data 101. 10/03/202	3 03.00.00 to 10/13/		J.JJ
, Dougie Job Title	Day Pata	Hours	Total
Job Title	Pay Rate Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
, QR Ordering			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Ammons, Haley			
Job Title	Pay Rate	Hours	Total
OC - Server	\$0.00	39.91	\$0.00
Sales: \$0.00	Total Claimed Tips	39.91	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
1163. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
B, Ashley			- 7 3.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	5.61	\$20.36
	Total	5.61	\$20.36
Sales: \$0.00	Claimed Tips		\$15.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$35.36
	Avg Payrate		\$6.30
B, Jaquel			
Job Title	Pay Rate	Hours	Total
6 1 40 00	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Balsam, Riley	Avgiayiate		70.00
Job Title	Pay Rate	Hours	Total
11	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Barnes, Star			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00 \$0.00
Portossi Corov	Avg Payrate		ŞU.UU
Bertossi, Corey Job Title	Pay Rate	Hours	Total
OC - Kitchen Manager	\$28.00	47.21	\$1,321.80
OC - Kitchen Manager - OT	\$42.00	16.90	\$709.91
33 Machen Manager 31	Total	64.11	\$2,031.71
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$2,031.71
	Avg Payrate		\$31.69
Bloomer, Kendall			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
Plaamar Kandall	Avg Payrate		\$0.00
Bloomer, Kendall	Day Pate	Hours	Total
Job Title OC - Server	Pay Rate \$0.00	Hours 14.04	Total \$0.00
OC - Server	Total	14.04	\$0.00
	iviai	17.04	JU.UU

Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
Drawning Ella	Avg Payrate		\$0.00
Brauning, Elle Job Title	Day Pata	Hours	Total
JOB Title	Pay Rate Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Brauning, Quinn			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	3.94	\$14.30
Salas, ĆO OO	Total	3.94	\$14.30
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$51.00 \$0.00
11ps. 30.00	Grand Total		\$65.30
	Avg Payrate		\$16.58
castilla, Marisol	7.08.07.000		
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Critchfield, Grace			
Job Title	Pay Rate Total	Hours	Total \$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
1163. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
D, Sophie			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.93	15.88	\$62.42
	Total	15.88	\$62.42
Sales: \$0.00	Claimed Tips		\$382.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$444.42
	Avg Payrate		\$27.98
DeKruyter, Deb	Avgiayiate		Ş Z7. 50
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Demay, Dakota			
Job Title OC - Server	Pay Rate	Hours 12.62	Total \$49.59
OC - Server	\$3.93 Total	12.62 12.62	\$49.59
Sales: \$0.00	Claimed Tips	12.02	\$0.00
Tips: \$0.00	Gratuity		\$0.00
por your	Grand Total		\$49.59
	Avg Payrate		\$3.93
Demeester, Kylee			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00			4
•	Gratuity		\$0.00
	Gratuity Grand Total		\$0.00
·	Gratuity		
Douglas, Audry	Gratuity Grand Total Avg Payrate	Hours	\$0.00 \$0.00
·	Gratuity Grand Total Avg Payrate Pay Rate	Hours 0.00	\$0.00 \$0.00 Total
Douglas, Audry Job Title	Gratuity Grand Total Avg Payrate Pay Rate Total	Hours 0.00	\$0.00 \$0.00 Total \$0.00
Douglas, Audry Job Title Sales: \$0.00	Gratuity Grand Total Avg Payrate Pay Rate		\$0.00 \$0.00 Total
Douglas, Audry Job Title	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips		\$0.00 \$0.00 Total \$0.00 \$0.00
Douglas, Audry Job Title Sales: \$0.00	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity		\$0.00 \$0.00 Total \$0.00 \$0.00 \$0.00
Douglas, Audry Job Title Sales: \$0.00	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total		\$0.00 \$0.00 Total \$0.00 \$0.00 \$0.00 \$0.00
Douglas, Audry Job Title Sales: \$0.00 Tips: \$0.00 Employee, Win Tavern Job Title	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	0.00	\$0.00 \$0.00 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Douglas, Audry Job Title Sales: \$0.00 Tips: \$0.00 Employee, Win Tavern	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63	0.00 Hours 0.08	\$0.00 \$0.00 Total \$0.00 \$0.00 \$0.00 \$0.00 Total \$0.30
Douglas, Audry Job Title Sales: \$0.00 Tips: \$0.00 Employee, Win Tavern Job Title	Gratuity Grand Total Avg Payrate Pay Rate Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	0.00	\$0.00 \$0.00 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

Tinc: \$11 105 25	Crotuit	v	\$0.00
Tips: \$11,195.35		Gratuity Grand Total	
	Avg Payrat		\$11,195.65 134,347.83
Erhard, Heather			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.93	35.00	\$137.56
6-160.00	Total	35.00	\$137.56
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$31.00 \$0.00
1108. 30.00	Grand Total		\$168.56
	Avg Payrate		\$4.82
Feutz, Tad			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Fischer, Mel	7 trg r dyrate		
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
Goodomost Kalah	Avg Payrate		\$0.00
Goodemoot, Kaleb Job Title	Pay Rate	Hours	Total
OC - Server	\$4.74	10.13	\$48.02
	Total	10.13	\$48.02
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$48.02
	Avg Payrate		\$4.74
Grove, Elissa	Day Data	11	Tatal
Job Title OC - Server	Pay Rate \$0.00	Hours 15.80	Total \$0.00
OC - Server	Total	15.80	\$0.00
Sales: \$0.00	Claimed Tips	13.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
·	Grand Total		\$0.00
	Avg Payrate		\$0.00
Hall, Dom			
Job Title OC - Cook	Pay Rate	Hours	Total \$569.36
OC - COOK	\$15.00 Total	37.96 37.96	\$569.36
Sales: \$0.00	Claimed Tips	37.30	\$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$569.36
	Avg Payrate		\$15.00
Heeringa, Alex			_
Job Title	Pay Rate	Hours	Total
OC - Cook	\$19.00	8.07	\$153.29
Sales: \$0.00	Total Claimed Tips	8.07	\$153.29 \$0.00
Tips: \$0.00	Gratuity		\$0.00
, , , , , , , , , , , , , , , , , , ,	Grand Total		\$153.29
	Avg Payrate		\$19.00
Hesser, Lauren			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	13.96	\$50.66
Sales: \$0.00	Total Claimed Tips	13.96	\$50.66 \$353.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$403.66
	Avg Payrate		\$28.92
Jager, Nicole			
Job Title	Pay Rate	Hours	Total
OC - Server	\$0.00	29.94	\$0.00
Color do oo	Total	29.94	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
τιμο. ου.υυ	Grand Total		\$0.00
	Avg Payrate		\$0.00
Jensen, Emme			7 3.03
Job Title	Pay Rate	Hours	Total
	•		

OC - Server	\$3.63	16.69	\$60.58
Training	\$10.00	3.41	\$34.08
	Total	20.10	\$94.65
Sales: \$0.00	Claimed Tips		\$742.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$836.65 \$41.63
Voyag Boid	Avg Payrate		341.03
Kovac, Reid Job Title	Pay Rate	Hours	Total
OC - Cook	\$13.00	33.09	\$430.18
GC - COOK	Total	33.09	\$430.18
Sales: \$0.00	Claimed Tips	33.03	\$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$430.18
	Avg Payrate		\$13.00
Kyle, Sophi			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	28.60	\$103.82
- 1	Total	28.60	\$103.82
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$103.82 \$3.63
Lowis Dayton	Avg Payrate		33.03
Lewis, Dayton Job Title	Pay Rate	Hours	Total
OC - Cook	\$26.00	49.92	\$1,297.97
OC - Cook - OT	\$39.00	15.63	\$609.41
	Total	65.55	\$1,907.38
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$1,907.38
	Avg Payrate		\$29.10
Long, Ayden			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$0.00 Total	35.95	\$0.00
Sales: \$0.00	Claimed Tips	35.95	\$0.00 \$0.00
Tips: \$0.00	Gratuity		\$0.00
1163. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Maister, Kaylee			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.63	16.58	\$60.19
	Total	16.58	\$60.19
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$60.19 \$3.63
Makaina avvaki. Canamun	Avg Payrate		Ş3.0 <u>3</u>
Maksimowski, Camryn Job Title	Day Pate	Hours	Total
JOS TILLE	Pay Rate Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$0.00
			ć0 00
	Avg Payrate		\$0.00
Malinski, Cora	Avg Payrate		\$0.00
Job Title	Pay Rate	Hours	Total
	Pay Rate \$3.93	20.65	Total \$81.14
Job Title OC - Server	Pay Rate \$3.93 Total		Total \$81.14 \$81.14
Job Title OC - Server Sales: \$0.00	Pay Rate \$3.93 Total Claimed Tips	20.65	Total \$81.14 \$81.14 \$303.00
Job Title OC - Server	Pay Rate \$3.93 Total Claimed Tips Gratuity	20.65	Total \$81.14 \$81.14 \$303.00 \$0.00
Job Title OC - Server Sales: \$0.00	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total	20.65	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14
Job Title OC - Server Sales: \$0.00 Tips: \$0.00	Pay Rate \$3.93 Total Claimed Tips Gratuity	20.65	Total \$81.14 \$81.14 \$303.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate	20.65 20.65	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	20.65 20.65 Hours	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00	20.65 20.65 Hours 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total	20.65 20.65 Hours	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title OC - Cook	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00	20.65 20.65 Hours 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title OC - Cook Sales: \$0.00	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips	20.65 20.65 Hours 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title OC - Cook Sales: \$0.00	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips	20.65 20.65 Hours 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title OC - Cook Sales: \$0.00	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Gratuity	20.65 20.65 Hours 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Matheson, Faith Job Title	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	20.65 20.65 Hours 37.05 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 martin, Calan Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Matheson, Faith	Pay Rate \$3.93 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$0.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	20.65 20.65 Hours 37.05 37.05	Total \$81.14 \$81.14 \$303.00 \$0.00 \$384.14 \$18.61 Total \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$0.00 \$0.00
Mattone, Sarah	Avg Fayrate		ŞU.UU
ob Title	Pay Rate	Hours	Total
ob Title	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
* * * * * * * * * * * * * * * * * * *	Grand Total		\$0.00
	Avg Payrate		\$0.00
Maynard, Regan			
ob Title	Pay Rate	Hours	Total
OC - Server	\$0.00	12.82	\$0.00
OC - Host	\$0.00	13.05	\$0.00
	Total	25.87	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
at I I e It to	Avg Payrate		\$0.00
Michael, Felicity	Day Pata	Цолга	Total
OC - Server	Pay Rate	Hours	Total
OC - Server	\$3.63 Total	7.72 7.72	\$28.02 \$28.02
Sales: \$0.00	Claimed Tips	1.12	\$28.02
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$168.02
	Avg Payrate		\$21.77
miller, porter			
lob Title	Pay Rate	Hours	Total
Default Job Code	\$0.00	11.57	\$0.00
	Total	11.57	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Murley, Sydney			
lob Title	Pay Rate	Hours	Total
Salas, ĆO OO	Total	0.00	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11ps. 30.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
Oberg, Adeline	, tog i dyide		φυ.συ
lob Title	Pay Rate	Hours	Total
OC - Host	\$0.00	8.87	\$0.00
OC - Server	\$0.00	8.39	\$0.00
	Total	17.26	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
P, Ava			
lob Title	Pay Rate	Hours	Total
OC - Server	\$3.93	13.53	\$53.17
C-1 60 00	Total	13.53	\$53.17
Sales: \$0.00	Claimed Tips		\$357.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$410.17
	Grand Total Avg Payrate		\$410.17
P, Kelsey	Avg raylate		730.3Z
lob Title	Pay Rate	Hours	Total
THE	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips	0.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
T-1-2-	Grand Total		\$0.00
	Avg Payrate		\$0.00
Paiva, Sam	7		
lob Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
			\$0.00
Sales: \$0.00	Claimed Tips		
Sales: \$0.00 Tips: \$0.00	Gratuity		\$0.00
			\$0.00 \$0.00 \$0.00

Job Title OC - Server	Pay Rate \$3.93	Hours 14.94	Total \$58.71
OC - Server	Total	14.94	\$58.71
Sales: \$0.00	Claimed Tips	14.54	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$58.71
	Avg Payrate		\$3.93
Ritz, Kenny			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$0.00	16.03	\$0.00
C-1 ¢0.00	Total	16.03	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11ps. \$0.00	Grand Total		\$0.00
	Avg Payrate		\$0.00
S, Ashlee	711 2 1 1 1 1 1 1 1		70.00
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
•	Avg Payrate		\$0.00
simon, avery	D D		T-4-1
Job Title Default Job Code	Pay Rat		Total \$0.00
Default Job Code	\$0.0 Tot :		\$0.00
Sales: \$0.00	Claimed Tip		\$0.00
Tips: \$0.00	Gratuit		\$0.00
•	Grand Total		\$0.00
	Avg Payrat	e	\$0.00
Simon, Cole			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$19.00	43.46	\$825.77
C-1 ¢0.00	Total	43.46	\$825.77
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11ps. \$0.00	Grand Total		\$825.77
	Avg Payrate		\$19.00
Smith, Will			7 - 3 - 3 - 3
Job Title	Pay Rate	Hours	Total
OC - Cook	\$19.00	40.00	\$760.00
OC - Cook - OT	\$28.50	5.38	\$153.31
6 1 40 00	Total	45.38	\$913.31
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
11μs. 30.00	Grand Total		\$913.31
	Avg Payrate		\$20.13
Smith, Zoe	7.1. <u>g</u> . u y . u c		¥20.20
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00			
	Gratuity		\$0.00
	Grand Total		\$0.00
Snider Taylor			
Snider, Taylor	Grand Total Avg Payrate	Hours	\$0.00 \$0.00
Job Title	Grand Total Avg Payrate Pay Rate	Hours 0.08	\$0.00 \$0.00 Total
	Grand Total Avg Payrate	Hours 0.08 0.08	\$0.00 \$0.00 Total \$0.30
Job Title	Grand Total Avg Payrate Pay Rate \$3.63 Total	0.08	\$0.00 \$0.00 Total
Job Title OC - Server	Grand Total Avg Payrate Pay Rate \$3.63	0.08	\$0.00 \$0.00 Total \$0.30 \$0.30
Job Title OC - Server Sales: \$0.00	Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total	0.08	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00	Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity	0.08	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie	Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.08 0.08	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.00 \$0.30 \$3.63
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title	Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate	0.08 0.08 Hours	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.00 \$3.63
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie	Pay Rate \$3.63 Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63	0.08 0.08 Hours 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.00 \$3.63 Total \$46.43
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server	Pay Rate \$3.63 Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Total Avg Payrate	0.08 0.08 Hours	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.00 \$3.63 Total \$46.43 \$46.43
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server Sales: \$0.00	Pay Rate \$3.63 Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.08 0.08 Hours 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$3.63 Total \$46.43 \$46.43 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server	Pay Rate \$3.63 Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Total Avg Payrate	0.08 0.08 Hours 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$1.63 Total \$46.43 \$46.43 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server Sales: \$0.00	Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Claimed Tips Gratuity	0.08 0.08 Hours 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$3.63 Total \$46.43 \$46.43 \$0.00 \$0.00 \$46.43
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server Sales: \$0.00 Tips: \$0.00	Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Total Claimed Tips Gratuity Grand Total	0.08 0.08 Hours 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$1.63 Total \$46.43 \$46.43 \$0.00 \$0.00
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server Sales: \$0.00	Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.08 0.08 Hours 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$3.63 Total \$46.43 \$46.43 \$0.00 \$0.00 \$46.43
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Sidney Job Title OC - Server	Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63	0.08 0.08 Hours 12.79 12.79 Hours 4.48	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$3.63 Total \$46.43 \$0.00 \$0.00 \$46.43 \$16.25
Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Aubrie Job Title OC - Server Sales: \$0.00 Tips: \$0.00 Sparks, Sidney Job Title	Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$3.63 Total Claimed Tips Gratuity Grand Total Avg Payrate	0.08 0.08 Hours 12.79 12.79	\$0.00 \$0.00 Total \$0.30 \$0.30 \$0.00 \$0.30 \$3.63 Total \$46.43 \$46.43 \$0.00 \$0.00 \$46.43 \$3.63

Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$70.00
C+!: D-!!!	Avg Payrate		\$7.11
Sterling, Rainell	Day Data	11	Takal
Job Title OC - Server	Pay Rate \$0.00	Hours 10.13	Total \$0.00
OC - Server	Total	10.13	\$0.00
Sales: \$0.00	Claimed Tips	10.13	\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Stogdill, Kait			
Job Title	Pay Rate	Hours	Total
OC - Server	\$0.00	25.06	\$0.00
	Total	25.06	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Swain, Dave			
Job Title	Pay Rate	Hours	Total
Calast 60.00	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$0.00
	Avg Payrate		\$0.00
Taylor, Alexis "Lou"	Avgrayiate		Ş0.00
Job Title	Pay Rate	Hours	Total
OC - Server	\$4.74	23.62	\$111.95
Training	\$12.50	3.38	\$42.31
ITallillig	Total	27.00	\$154.26
Sales: \$0.00	Claimed Tips	27.00	\$0.00
Tips: \$0.00	Gratuity		\$0.00
11,601,40100	Grand Total		\$154.26
	Avg Payrate		\$5.71
Tinkler, Aubree			
Job Title	Pay Rate	Hours	Total
OC - Server	\$3.93	27.10	\$106.51
	Total	27.10	\$106.51
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$106.51
	Avg Payrate		\$3.93
Tofilovski, Melina			_
Job Title	Pay Rate	Hours	Total
OC - Server	\$0.00	20.04	\$0.00
5 1 60 00	Total	20.04	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00
			\$0.00 \$0.00
Vandarlaan Brandan	Avg Payrate		ŞU.UU
Vanderlaan, Brendan Job Title	Pay Rate	Hours	Total
OC - Cook	\$20.00	Hours 35.87	\$717.33
JC COOK	Total	35.87	\$717.33
Sales: \$0.00	Claimed Tips	33.07	\$0.00
Tips: \$0.00	Gratuity		\$0.00
1.60. 40.00	Grand Total		\$717.33
	Avg Payrate		\$20.00
Vanderlaan, Owen	9		,_,,,,,
Job Title	Pay Rate	Hours	Total
OC - Dishwasher	\$13.00	20.69	\$269.02
	Total	20.69	\$269.02
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
•	Grand Total		\$269.02
	Grand Total		
	Avg Payrate		\$13.00
Vincent, William			\$13.00
Vincent, William Job Title		Hours	
	Avg Payrate	Hours 19.61	Total \$0.00
Job Title	Avg Payrate Pay Rate \$0.00 Total		Total \$0.00
Job Title OC - Cook Sales: \$0.00	Avg Payrate Pay Rate \$0.00 Total Claimed Tips	19.61	Total \$0.00 \$0.00 \$0.00
Job Title OC - Cook	Avg Payrate Pay Rate \$0.00 Total	19.61	Total \$0.00 \$0.00

	Avg Payrate		\$0.00
Wahl, Rob			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Walta, Austin			
Job Title	Pay Rate	Hours	Total
OC - Cook	\$0.00	40.00	\$0.00
OC - Cook - OT	\$0.00	2.46	\$0.00
	Total	42.46	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$0.00
	Avg Payrate		\$0.00
Winger, Ashley			
Job Title	Pay Rate	Hours	Total
	Total	0.00	\$0.00
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity		\$0.00
-	Grand Total		\$0.00
	Avg Payrate		\$0.00

Summary

Job Code	Total Hours	Regular Hours	OT Hours	Total Pay	Regular Pay	OT Pay
OC - Server	477.98	477.98	0.00	\$1,110.28	\$1,110.28	\$0.00
OC - Kitchen Manager	64.11	47.21	16.90	\$2,031.71	\$1,321.80	\$709.91
OC - Cook	420.47	397.01	23.46	\$5,516.63	\$4,753.91	\$762.72
Training	12.17	12.17	0.00	\$130.13	\$130.13	\$0.00
OC - Host	21.92	21.92	0.00	\$0.00	\$0.00	\$0.00
Default Job Code	40.80	40.80	0.00	\$0.00	\$0.00	\$0.00
OC - Dishwasher	20.69	20.69	0.00	\$269.02	\$269.02	\$0.00
TOTALS	1,058.14	1,017.77	40.37	\$9,057.77	\$7,585.14	\$1,472.63